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QUESTION 1

Which of the following is the process ID number of the init program? 

A. -1 

B. 0 

C. 1 

D. It is different with each reboot. 

E. It is set to the current run level. 

Correct Answer: C 

 

QUESTION 2

To allow a regular user account to mount and unmount a filesystem (for instance, a cdrom or floppy), which of the
following options will need to be added to the corresponding line in /etc/fstab? 

A. nouidchk 

B. alluser 

C. user 

D. auto 

Correct Answer: C 

 

QUESTION 3

Which of the following commands is used to dump files in octal format? 

A. od 

B. octdump 

C. dumpoct 

D. cat -o 

Correct Answer: A 

 

QUESTION 4

In the command foo 
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A. The stdout from the command foobar is saved to the file foo. 

B. The stdout from the command foo is saved to the file foobar. 

C. The command foobar receives its stdin from the stderr of foo. 

D. The command foobar receives its stdin from the stdout of foo. 

E. The command bar receives its stdin from the contents of the file foobar. 

Correct Answer: D 

 

QUESTION 5

Which of the following is the default process priority when a process is started using the nice command? 

A. -10 

B. 10 

C. 20 

D. 0 

Correct Answer: B 
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